v CURPART NLLIABCE EREKGI LEAJE WLLIAN OTRIMO J& DINELL W, 1 | L = 1UTdek fue = LUGTeJ "~
UNIT :N SECTION : K TOWNSHIP :45 ) ¥

L: M H: 3T L/ 1 G/QMIX : 0.654 2= ., D= N5t

$02 ¢ 0.04 M T7.67 H2S : DATE  :10/31/00 0.0 ERR *

d: 1,99 Fr :0.018231 G 2468.2 RANGE : 0.0 ERR ¢

0.0 ERR #

t

VOL1: 420 DPSIAL: 293.2 RESV.TEMP 1117 Pe2-Pwl= 999.7 PM2= B85 ¢
VOL 2 : PSIA 2 : ERR ERR *
VoL 3 : PSIA ] : SHUT-IN PR= 1043.2 ERR ERR ¢
YOL 4 : PSIA 4 : ERR ERR ¥

3

PCR: 662 n= 1000 t

IR: 3 ¥

Pe2/(Pc2-Pw2) = 1.089 J

LIE | RATE | RATE 2 RATE 3 RATE ¢ ERR *
ERR t

ISt | D | ISt | 2 | IST | M | IST "IN ERR ¢

t

T ™ 0.420 | 0.420 | 0.000 | 0.000 | 0.000| 0.008 | 0.000 | 0.000 ¢
!l N 534 534 534 534 534 534 534 534 ||[Pc2/Pc2-Pwl]n = 1.089 t
I s 571.7 571.7 5117 57117 511.1 §71.7 5117 571.7 ERR t
§ 1 552.9 | 552.9 | 552.9{ 552.9 | 552.9 | 529 5929 552.9 ERR t
PR (est) 0.44 0.00 0.00 0.00 ERR t

5 Z(est) 0.938 | 0.93 | ERR ERR ERR ERR ERR ERR t
§f T 518.7 517.5 ERR ERR ERR ERR ERR ERR AOF=Q  0.457 t
1T @/% 4,79 4.769 IR ERR ERR ERR ERR ERR ERR t
8 oS 11951 1.196 ERR ERR ERR ERR ERR ERR ERR t
9 1-e§ 0.163 0.164 ERR ERR ERR ERR ERR ERR ERR t
10 Pt 293.2 | 293.2 0.0 0.0 0.0 0.0 0.0 0.0 t
11 pt2 /1000{  86.0 86.0 0.0 0.0 0.0 0.0 0.0 0.0 t
12 Fr  {0.018231 |0.018231 10.018231 |0.018231 {0.018231 (0.018231 |0.018231 {0.0182311 t
13 Fe=Frii 9.456 9.435 ERR ERR ERR ERR ERR ERR 1
14 Fclm .97 3.96 ERR ERR ERR ERR ERR ERR t
15 L/H(Fch) 158 157 R ERR FRR FRR ERR ERR t
16 2.577766 |2.571756 ERR ERR ERR ERR ERR ERR t
17 M 88.5 88.5 ERR ERR ERR ERR ERR ERR t
18 Ps2 105.8 105.9 ERR ERR ERR ERR ERR ERR t
19 bPs 15,3 3254 ERR ERR ERR ERR IR ERR t
0 P 309.3 | 309.3 ERR ERR ERR ERR ERR ERR t
i P 0.47 0.47 ERR ERR ERR ERR ERR ERR *
n w 1,56 1.5 1.56 1.56 1.56 1.56 1.56 1.56 t
2 A 0.936 0.936 ERR ERR ERR ERR ERR ERR PORM C122-D t




